ORoco—| Ersatztelliste
Replacement Parts Br44 43262

. -8
8= Text Art-Nr. |25
1 Motor komplett 85063 | 57
Motor assembly
2 Schraube M 2x14 B5677 2
Screw M 2x14
3 Schraube M 2x16 B5678 2
Screw M 2x16
4 | Bellagscheibe 2,1x4 /0,2 mm 86084 2
Washer 2,1x4 /0,2 mm
5 Schnecke BE703 4
Worm
6 | Tenderbeleuchtung kpl. 87638 | 35
Tender lightning set assembly
7 | Tender Platine 87711 | 28
Tender printed circuit
8 | Puffer flach, bedruckt 88521 6
Buffer fiat, painted
9 | Pufter gewolbt, bedruckt 88522 6
Buffer vaulted, painted
10 Standardkupplung Tender 89203 5
Standard coupling tender
11 Kohleaufsatz 92180 15
Simulated coal
12 Stute links 92198 2
Step left
13 Stufe rechts 92199 2
Step right
14 | Tenderleiter links 92209 3
Tender ladder left
15 | Tenderleiter rechts 92210 3
Tender ladder right
16 Laterne Mitte 92212 3
Lantern middle
17 | Deckel 92459 2
Cover
18 | Glohlampe 93518 | 10
Light bulb
19 Lichtleitstab, Mitte 93780 2
Light transmission bar, middle
20 | Behalter und Kontakt 93938 | 10
Tank and contact
21 | Tenderunterteil 94565 | 20
Tender lower part
22 Tendertire 94641 3
- Tender door
m
23 | Isclierplatte 94885 2
Insulating plate
24 | Iscliereinsatz 94886 2
insulating insert
25 | Tenderoberteil 97870 | 41
Tender body
26 | Tenderleitung 92450 4
Tender pipe
- j 1/
= .
@9= R drumbsakit @
A H{/f- S YT
Hugdukbadi clin
[l
Anderungen vorbehalten Ausgabe 92/04 Blatt 34311

Best. Nr. B4953 We reserve the right o make changes Edition 592/04 Page 3431



